Reasoning

SET-01

121. How many meaningful three letter English words can be
formed with the letters AER, using each
letter only once in each word?

(DNone (2)One (3) Two (4) Three (5) Four

122. Each vowel of the word ADJECTIVE is substituted with the
next letter of the English alphabetical

series, and each consonant is substituted with the letter preceding
it. How many vowels are present in the new arrangement?
(DNone (2)One 3)Two (4) Three (5) None of these

123. In a certain code 'na pa ka so' means birds fly very high', ri
so la pa' means 'birds are very beautiful' and 'ti me ka bo' means
'the parrots could fly'. Which of the following is the code for
'high' in that language?
(hna (2)ka (B3)bo (4)so (5) None of these

124. If the digits in the number 86435192 are arranged in
ascending order, what will be the difference between the digits
which are second from the right and fourth from the left in the
new arrangement?

(1) One (2) Two (3) Three (4)Four (5) None

125. If it is possible to make only one meaningful word with the
Third, Seventh, Eighth and Tenth letters of the word
COMPATIBILITY, which of the following would be the last
letter of that word? If no such word can be made, give X' as ygur
answer and if more than one such word can be formed, give y%.l&
answer as ‘Y.

(DI 22B 3L X )Y

126. In a certain code FINE is written HGPC. Howeis @{IT
written in that code?

(I) UTGR  (2) UTKR (3) TUGR Lé) l%UbT (5) None of
these %

127. If in a certain language LATHis coded as 8‘8{4&? and HIRE
is coded as 7*3$ then how will HAIL be coded in the same
language? . ’
(1) 7&8* = 42) &T7*8 3) 7*&
these o

4) 7&*8  (5) None of

128. Four of'the following five are alike in a certain way and so
form a group. Which is the one that foes not belong to that
group? -
(DStem  (2) Tre¢™ (3) Root  (4) Branch  (5) Leaf

129. If 'Apple' is €alled Orange'. Orange' is called "Peach"”, Peach'
is called "Potato'. tato' is called Banana", Banana' is called
'Papaya' and Papayd' is called Guava\ which of the following
grows underground?

(1) Potato  (2) Guav! (3) Apple (4) Banana (5) None
of these

130. How many such pairs of letters are there in word ENGLISH,
each of which has as many letters between its two letters as there
are between them in the English alphabets?

(1) None (2)One (3) Two (4) Three (5) More than three

Directions (131-135): In each of the questions below are given
three statements followed by two conclusions numbered I and II.
You have to take the given statements to be true even if they
seem to be at variance from commonly known facts. Read both
of the conclusions and then decide which of the given
conclusions logically follows from the given statements
disregarding commonly known facts.

Read the statements and the conclusions which follow it and -
Give answer (1) if only conclusion I is true.

Give answer (2) if only conclusion II is truf

Give answer (3) if either conclusion I or conclusion 11 is true.
Give answer (4) if neither conclusiq'n Lnot conc sign 1is true.

Give answer (5) if both conclusioF I and II are t‘nF

131. Statements: All stars are suas. Some suns are planet. All
planets are satellites. 1

Conclusions: L. Some.sateill es are starsrﬂ. No star is a satellite.

132. S}aﬁ ts: All ({lrtalns‘ are rods. Some rods are sheets.
So she s gte pillows.
s1ons I Some pillows are rods. II. Some rods are curtains.

133. Statements: All switches are plugs. Some plugs are bulbs.
All bulb are Sockets.

Conclustons#I. Some sockets are plugs. II. Some plugs are
switches's

134. State A(flshes are birds. All birds are rats. All rats
are COws.

Conclusions: I All birds are cows. II. All rats are fishes.

i‘
135. Statements: Some walls are windows. Some windows are
doors. All doors are roofs.
Conclusions: I. Some doors are walls. II. No roof is a window.

Directions (136-140) : Study the sets of numbers given below
and answer the questions, which follow:

489 541 654 953 783
136. If in each number, all the three digits are arranged in
ascending order, which of the following will be the lowest
number?
(1)489 (2)541 (3)654 (4)953 (5)783
137. If five is subtracted from each of the numbers, which of the
following numbers will be the difference between the second
digit of second highest number and the second digit of the highest
number?

(DZero (23 (3)1 A4 (5)2

138. If in each number the first and the second digits are
interchanged, which will be the third highest number?
(1)489 (2)541 (3)654 (4)953 (5)783

139. Which of the following numbers will be obtained if the first
digit of lowest number is subtracted from the second digit of

highest number after adding one to each of the numbers?
ML @22 33 B4 )5
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140. If in each number, the first and the last digits are 142. In the expression P x Q — T how is T related to P?
interchanged, which of the following will be the (1) Daughter (2) Sister (3) Mother (4) Can't be determined
second highest number? (5) None of these
(1)489 (2)541 (3)654 (4)953 (5)783
143. Which of the following means T is wife of P?
Directions (141-145): Read the following information carefully (HPxS=T @PSxT @B)P-S+=T @AHP+T=S (5
and answer the questions, which follow: None of these
'A - B' means "A is father of B’.
‘A + B' means 'A is daughter of B'. 144. Which of the following means P is grandson of S?
‘A + B'means 'A is son of B’. (HP+Q-S 2)PQxS @B)P+Q+S @#PxQ=S
'A x B' means 'A is wife of B’. (5) None of these
|
141. How is P related to T in the expression P+ S - T '? 145. In the expression P + Q x T how is T'r e&(o P?
(1) Sister (2) Wife (3) Son (4) Daughter (5) None of (1) Mother  (2) Father (3) Son (4) Brotr % (5) None of
these these - / |
\) *

Directions (146-150) : In each question a group of letters is given followed by four combinations of nun(b;er/symbf)l nur;l;ered ), (2).
(3) and (4). Letters are to be coded as per the scheme and conditions given below. You have to find out fhe serial rpmber of the
combination, which represents the letter group. Serial number of that combination is your ans&/.er.'lfi}one of th Frombinations is correct,

your answer is (5) i.e. None of these. 1 s
.l L

Letters Q |M |S |I N |G |D|/K|A|L [P |R W % . ‘.-

Number/ | 7 @ (4 |[# | % |$ 6 |1 [2£ |5 Hg#F 9 ¥

symbol 'ri

13
Conditions:
@) If the first letter is a consonant and the last a vowel, both|are to be dbded as the code of the vowel.
(ii) If the first letter is vowel and the last a consonant, the cades for theffigt and the last are to be interchanged.
(iii) If no vowel is present in the group of letters, the second and the fifth¥etters arego be coded as ©.
146. BARNIS .
(1) 92%#%4  (2) 924#%%  (3) 92*#%9 (4) 42*#%4 (w@.e of these t

147. DMBNIA | 4
(1) 6@9%#2  (2)2@9%#6 (3) 2@9%#2 (4)2 ‘91%# (5) None of these
r-

148. IIBRLG
(1) #89*£$  (2) #89*£#  (3) S89*£# q4)§89*£s (5) None of these
- ! .
149. BKGQIN b
(1)90$70%  (2) ©9%7%© «(3) 91 $78% *4‘) % 1$789 (5) None of these
k1
150. EGAKRL ¥ .
(1) #£821% 0 (2) £821%3, (\é{ 21%#  (4)#£$21#  (5) None of these
Directif; (151-155): Study th::“I ollowing information company Y and his friend A who is a Finance expert works for
carefully to ‘answer these questions. company X in which only two specialists work. No lady is a
Eight persons A, B, C,D, E, F, G and H work for three different marketing specialist or a doctor.
companies nam_ély X¥Y and Z. Not more 151. Which of the following combinations is correct?
than three persons pork for a company. There are only two ladies (1) C - Z — Engineer (2) E - X — Doctor B)H-X-HR
in the group who have different spegializations and work for (4) C-Y - Engineer
different companies. Of the group of friends, two have (5) None of these
specialisation in each MR, Finange and
Marketing. One memiber'is an engineer and one is a doctor. H is 152. For which of the following companies docs C work?
an HR specialist andsworks with a Marketing 1Y @)X @B)Z 4) Datainadequate (5) None of
specialist B who does ot work for company Y. C is an engineer these
and his sister works in company Z. D is a specialist in HR
working in company X while her friend G is a finance specialist 153. Which of the following pains represents the two ladies in the
and works for company Z. No two persons having the same group?
specialisation work together. Marketing specialist F works for
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(DAandD (2)BandD (3)Dand G (4) Data inadequate 124. In a certain code ja ki mo pe' means at a frogs leap. mo la ki

(5) None of these so means'take a leap ahead and 're bo ja na' means insects are
frog's diet" Which of the following is the code for at in that

154. Which of the following represents the pair working in the language ?

same company? (hja 2)pe (B3)bo (4)re (5) None of these

MODandC (2)AandB (B)AandE @4)HandF (5)

None of these 125. If in a certain language WEAK is coded as 9%2$ and SKIT
is coded as #$7@, then now will WAIT be coded in the same
language?

155. Who amongst the friends doctor'? (1) 9267 2)9276  (3)92@6 (4)9@67 (5) None of

(HH 2)E (3)C (4)Either Eor C (5) None of these these

|
HAA A ko 126. How many meaningful three letter Engli $0rds can be
formed with the letters WNO, using each lfgl oflly once in eachl
SET - 02 word ? - / |

121. If 'football1l is called cricket, 'cricket’ is called basketball’, (1)None (2)One (3) Two l\(4)“ Three (5Y Four

'basketball' is called badminton', 'badminton' is called Volleyball', r r

'volleyball' is called hockey and hockey' is called golf, which of 127. Four of the following five ar alike in a certatn way and so

the following games is not played form a group. Which is the one “that d3es ilot belong to that group

using a ball ? A

(1) Volleyball (2) Basketball (3) Hockey. (4) Cricket (5) (1) Clutch «(2) Wheels @ (})'Break r{4) Car (5) Gear

None of these L .

ow m 1y such pairs o" letters are there in word
DING, #¢h of which?'has as many letters between its two
e between'them in the English alphabets ?

122. If it is possible to make only one meaningful word with the
First Second. Third and Filth letters of the word TECHNOLOGY

which of the following would be the third letter of that word ? If (1) No )One (3)Two (4) Three (5)More than
no such word can be made, give three
X" as your answer and if more than one such word can be

formed, give your answer as ‘Y. 129. Eagh yowel of the word GLADIOLUS is substituted with
mec 2T BN DX )Y the next létter of the English alphabetical series, and each

consonant ed with the letter preceding it. How many
123. If each of the digits in the number 92581473 are arrangﬁi( vowels arf present in the new arrangement?
ascending order, what will be the difference between the digi (1) None (2)One (3) Two (4) Three (5) None of these
which are fourth from the right and third from the left fﬂh%

arrangement ? k I 130. In 5. certain code THEN is written as VFGL. How is WORD
(1)One (2) Two  (3) Three (4) Four (52._ written 1n that code ?
(H)UQPF  2)YMTB (3) YMVB (4) VQFP (5) None of
these

Directions (131-135); In each of these stlons""a group of letters is given followed by four combinations
of number/symbol numbered (1)..2), (3) dnd (4} Letters are to be coded as per he scheme and conditions given
below. You have to find out the sefial numberiofithe combination, which represents the letter group. Serial
number of that combmatlon isgpyganswer. If none of the combinations is correct, your answer is (5) i.e. None
of these'.

- Phe
( Letters B |D|K |Q |L [T |R|J|S |[N|P |A|E|G
Number/ [f@ '3 |7 | % |* |4 |# |1 |2 |£ [8 |5 |9 |%$ |6
symbol
i L I
L
. &
Conditions :
@) If the first letter is a yowel and the last a consonant, both ate to be coded as the code for the consonant
(>i1) If the first letter is a/consonant and the last a vowel, the codes for the first and the last are to be interchanged.
(iii) If no'y@wel is present in the group of letters, the first and the last letters are to be coded as ©.
-
131. GQRDBN F

(1) ©*1730  (2)6*1738 (3)6*1736 (4)8*1738  (5) None of these

132. IPEBQS
(1) #5$3%€  (2) #53$*# (3) £5$3*E (4) £5$3*#  (5) None of these

3
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133. RMAPSI

(1) 1@95£#  (2) 1@95£1 (3) #@95€#  (4) #@95£1  (5) None of these
134. AREMQN

D91$@*8  (2)8I$@*8 (3)81$@*9  (4)91$@*9  (5) None of these
135. KIBPRD

(1)923517 (2) 723517 (3)%23519 (4)©29150  (5) None of these

Directions (136 140): Read the following information carefully
and answer the questions, which follow :
‘A — B’ means A is daughter of B
‘A + B’ means A is wife of B
‘A + B means ‘A is father of B
‘A x B’ means A is son of B’.

136. In the expression P x R — S’ how is P related to S ?
(1) Father (2) Grandfather (3) Grandson (4) Sister (5)
None of these

137. Which of the following means S is son-in-law of P ?
(HP+RxS (@2)P+RxS @B)P+R+S @P+R+S
(5) None of these

138. In the expression ‘P—Q + S how is S related to P ?
(1) Mother 2) Father (3) Brother (4) Cannot be determined
(5) None of these

139. How is P related to S in the expression ‘P x Q +S ?

1) Brother (2) Wife (3) Son (4) Sister (5) None of these
140. How is S related to P in the expression P +R + S ? (
(1)Son  (2) Daughter  (3) Daughter-in- law  4) we{

(5) None of these ‘ .,‘

Directions (141-145) : Study the sets of numbers given

below and answer the questions, which follo‘/ {
972 682 189 298 751 "

%
141. If one is added to the lowest.number and t s added to the
highest number what will be the difference between the second
digit of the smallest number aqgth d digit of the highest
number?

05 @7 f3) 9 48 (5 yb@\i)f these
142. If in ezﬁ number, first and the Hast digits are interchanged,

which of the following will be the third highest number ?
(1)972 (2)682 (3189 (4)298 (5)751

-~
143. If in each number, all the threg digits are arranged in
descending orderjwhich of the following will be the third highest
number?
(1)972  (2) 6825 (3)189 (4)298 (5) 751

-

144. If in each numberfSecond and the third digits are
interchanged, what will be the sum of first digit of the smallest
number and last digit of highest number ?

()7 26 3)9 (4)8 (5 None of these

145. If one is added to the smaller odd number and one is
subtracted from the higher odd number, whichlof the following

will be obtained if the second digit of the high&r number is
subtracted from the second digit of the lowér number so formed?
e @5 G4 D3 \(5)2 - )

i L]

Directions (146-150): In each (rfhe_ questioné:ITow are given
three statements followed by two clusionls numbered I and II.
You have to take the given statement%to be true even if they
seem to be at varian |
from commonly knowa facts. Read bot{of the conclusions and
then decideiwhich of the givgn conclusions

I?fo 16y Ws from the ‘gli'en statements disregarding
n facts.
ead the statements and conclusions which follow it and
Give answer () if only conclusion I is true.
Give angwer (2) if only conclusion II is true.
Give an§wer(3) if either conclusion I or conclusion II is true.
Give angwaf (4) if neither conclusion I nor conclusion II is true.
Give answer (5)if l?h conclusions I and II are true.

146. Statgments: No pen is a mobile. Some mobiles are bottles.
All bottle§ are papers.

Conclus}ons: 1. Some papers are pens. II. All bottles are pens.

147. Statements: All computers are radios. All radios are
televisions. Some televisions are watches.
Conclusions: I. Some watches are computers.
televisions are computers.

II. Some

148. Statements: Some desks are chairs. Some chairs are doors.
Some doors are walls.

Conclusions: I. Some walls are chairs. II. No chair is a wall.
149. Statements: All stars are fishes. Some fishes are moons. All
moons are birds.

Conclusions : 1. Some birds are fishes. II. Some stars are moons.

150. Statements: All leaves are roots. All stems are roots. All
roots are flowers.

Conclusions : 1. Some flowers are stems. II. Some flowers are
leaves.

Directions (151-155) : Study the following information
carefully to answer these questions.
A group of people has six family members and an advocate.
These are L, M, N, O, P, Q and R and having
different professions. Each one of them is a journalist,
businessman, architect, doctor and pilot but not necessarily in this
order. There are three males and three females in the family out
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of which there are two married couples. M is a businessman and
is the father of P. Q is a doctor and grandfather of P. N is a
housewife and is daughter-in-law of O. L is neither a pilot nor a
journalist. R is an advocate. N is not the mother of P and O is not
married to M. No lady is a journalist.

151. Which of the following groups represents the three ladies in
the group ?

(ON,P,L @2)P,LLN @3)L,N,O (4)O,P,L (5) None
of these

152. Who is married to Q ?
(DN (20 ((B)L (4) Can’t be determined (5) None of
these

153. Who among the following family members is an architect ?
(HL 2)0 @B)P (@) Can’tbe determined (5) None of
these

154. Which of the following is the profession of P ?

(11 Architect  (2) Pilot (3) Architect or pilot (4) Journalist
(5) None of these

155. How is Q related to O ?
(1) Father  (2) Mother (3) Mother-in-law  (4) Son-in-law
(5) None of these

>3k s sk sk sk koo sk sk skoskoskosk

SET - 03
121. In a certain code BROWN is written as 531 @% and MEAN
is written as 26©%. How is ROBE written in that code ?
(H)3@16 (2)3516 3)3156 4)3© 16 5) None of these

122. In a row of forty students R is fifth from the right end afit (
there are ten students between R and D. What is the D’s position
from the left end of the row ? b | }
(H26™  2)23¢ (324" @25 (5) ?ﬁa

'—

inadequate

123. Among A B, C, D and E each having seor different marks
in an examination, B scored more than C*and:E and less than A
and D. C’s marks are not the lowest. Whallscoréd the lowest

marks ? il o
(D 2)C 3)B 4) Data inadequate ®))
None of these d"

124 How m 1y pairs of di:gits are tl}s‘ts[n\zhe number 9431658

each of whigh has as many digits bet§veen them in the number as

when the digs are rearranged in asc¢énding order ?

1) None 2)One 3)Two 4)Three (5)More than three
' -

125. How many*meaningful English words can be made with the

letters VLEI using each letter only @nce in each word ?

(1) None 2) One (3) Two § (4) Three (5) More than

three

126. How many sueh. pairs of letters are there in the word
OVERWHELM each df which has as many letters between them
in the word as in the English alphabet ?

1) None 2)One (3) Two (4) Three  (5) More than
three

127. What should come next in the following letter series ?
ACEGIKMOBDFHIJLNACE GIK

M BDFHIJLA

(HhB (2)C @B)F @D (5 None of these

128. In a certain code ‘ORBITAL is written as CSPHMBU. How
is CHARGER written in mat code ?

1) BIDQSFH (2) BIDSSFH (3) BIDQQDF (4) DIBQSFH
5) None at these

129. Four of the following live are alike in a certain way and so
form a group. Which is the one that does not belgng to that group

9 P
(1) 196 (2)256 (3)529  (4)576 "‘5)2-4

-

130.Four of the following five are gliké in a cerfain Wav and so
form a group. Which is the one thrdoes not belérF’ to that group
9

(1)RPN  2) WSU 361}D1~" (4)LHJ' (5) QMO

131. If ‘+” means di\l/'i'ied!by;";,_‘—‘ mean$ “added to’; < X’ means
subtracted ftom and ‘% means “multiplied by; then

26 #5%5 x4 + 2 '
5. (20 (3)25 ) (4) 18 (5) None of these

Diregtions (132-137) Study the following arrangement
carefully and @nswer the questions given below :

R5E3MDP14FOAG6EWJ]2 @6 KS8Q
7 % URTH * V 9

nineteentliffrom the left end of the above
arrangement ?
(H)D 4 2)U 3)o 46  (5) None of these

132. Whi?d—&e élowing is the seventh to the left of the

133. What should come next in the following series based on the
above arrangement ?

53% P4F 6WJ 468Q
(1) Ur* @) uT* (3) U1V 4)UTV  (5) None of
these

134. How many such consonants are there in the above
arrangement each of the which is immediately preceded by a
letter and immediately followed by a number?

1) None (2) One (3) Two (4) Three (5) More than
three

135. If all the symbols in the above arrangement are dropped,
which of the following will be the sixteenth from the right end ?
(HF QW 3] )6 (5) None of these

136.How many such symbols are there in the above arrangement
each of which is immediately preceded by a number and
Immediately followed by a consonant ?

(1) None (2)One (3) Two 4)Three 5) More than
three

137. How many such vowels are there in the above arrangement
each of which is Immediately preceded by a symbol and
immediately followed by a number?

(1) None “2)One (3)Two (4) Three (5)More than
three

www.examrace.com




Directions (138-143) : In the following questions, the symbols &,
S,*,@ and © are used with the following meanings as illustrated
below ;

P $Q means P is neither equal to nor greater than Q.

PO©Q’ means P is neither equal to nor smaller than Q

P§ Q means P is neither greater than nor smaller than Q’.

P @Q’ means “P is not smaller than Q

P* Q means P is not greater than Q’.

In each question three statements showing relationship have
been given, which are followed by three conclusions I, IT and III.
Assuming that the given statements are true, find out which
conclusion(s) is/are definitely true ?

138. Statements: BO N, N @ R, F % R

Conclusions: L. BOR ILF*N IIILR$B

(1) Only I'and IT are true ~ 2) Only I and IIT are true (3) Only
II and IIT are true  (4) All I, IT and III are true  (5) None of
these

139. Statements: DS M, M*B, B6J

Conclusions: 1.JOD II.LB@D IIl.LJ@M

(1) Only I and IT are true
II and HI are true
(4) All 1, IT and III are true

(2) Only I and ill are true  (3) Only

(5) None of these

140. Statements: F*T, TSN, N@R

Conclusion: (I) R$T (IDNOF IIILF$R

1) None is true (2) Only 1 is true  3) Only Il is true (4)
Only Il is true  (5) Only II and IIT are true

141. Statements: W6K, KOF, F$M

Conclusions: I. MOK II.W@F IIL.LF@W

(1) Only Iistrue  (2) OnlyIlistrue (3) Only III i&u

(4) Only II and III are true (5) None is true ‘ .‘
'—

142.Statements : M@ D, D6 K. KO R
Conclusions:I. R§M IL.Ké6M IILKS$

(1) Only Iistrue  (2) Only Il is true Only 111 is true  4)
Only either II or III and I are true ‘“
(5) Only either Il or I is true = {4

!

143. Statements : F@ T, TS KJ D
Conclusions: . D@QF JLF@ II.D@T
1) Only IT ag IT are true  (2) Only, d III are true

(3) Only
Iand II are frue 4) All LII and III dfe t
(5) None of these

Directions (li4-149): Study the following information
carefully and an.s"wpr the questions given below :
P, A, D, Q, T, M,jR and B are sitting around a circle facing at the
centre. D is third fo the left of T who is
fifth to the right of P. ‘A is third to the right of B who is second
to the right of D. the second to the left of M.
144. Who is second*te the right of M ?
(I)B 2R (3 4)Q  (5) None of these

145. Who is to the immediate right of D?
(HM 2)Q (3)B (4) Datainadequate 5) None of these

146. Who is third to the right of P ?
(HhD 2)M ()R (4) Datainadequate (5) None of these

9

147. Who is second to the left of D ?
(DA 2Q (B)B (P (5 Datainadequate

148. In which of the following pairs the first person is sitting to
the immediate right of the second person ?
(1) DM 2)BT (GB)RA @GPQ (OB)PA
149. Which of the following pairs represents the immediate
neighbours of A ?
1) PT (2) PB (4)PD  (5) None of these

\
Directions (150-155): In each question” v&"axe three
statements followed by three conclusions nﬁe& 1. IT and III.
You have to take the three given stitenrlem's to bijue even if
they seem to be at variance from . "
commonly known facts and then ¢8€ide which of fhé given
conclusions logically follows from the three give
statements disregarding commé'rle ka?wa facts. Then decide
which of the answerghl), '(2.{ (3), 4) anld (5) is the
correct answer. 2%
150. S!ater%r;ts: Somhie bikgs are ears.  Some cars are trams.
frains dxe buses. T

lusions® |I. Some buses are ears. II. Some trains are bikes.

3) TQ

Only ITRfollows (5) Only I and II follow

151. St
are mats.

Conclusic?.'—& %e mats are cats. II. Some mats are dogs.

ts: All dogs are cats. Some cats are rats. All rats

III. Somejfrats are cats.

(1) Only Iifollows  2) Only II follows (3) Only III follows
(4) Only I and III follow

®) None of these

152. Statements: All cups are benches. Some benches are
drums. All drums are kites.

Conclusions:

I. Some kites are cups. II. Some kites are benches.
drums are cups,

1) None follows II) Only 1 follows (3) Only II follows (4)
Only III follows  (5) Only II and III follow

III. Some

153. Statements: Some boxes are walls. No wall is road. All
loads are rivers.

Conclusions; I.Some rivers are walls. II. Some roads are boxes.
III. No wall is river.

(1) Only I follows (2) Only either I or III follows (3) Only III
follows (4) Only II follows

(5) Only II and III follow

154. Statements: Some tables are chairs. All chairs are houses.
All houses are tents.

Conclusions: I. All houses are chairs. II. Some tents are chairs.
III. Some houses are tables.

(1) Only I and IT follow  2) Only I and III follow
and III follow

(4) Al 1, IT and IIT follow (5) None of these

(3) Only I

155. Statements . All pens are sticks. All sticks are rings. All
rings are rods.
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Conclusion: I. Some rings are pens. II. Some rods axe sticks.
III. Some rods are pens.

1. Only I and II follow 2. Only I and III follow  (3) Only II
and III follow
4. All I, IT and III follow 5) None of these
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SET -04

121. In a certain code language tree is very beautiful is written as
‘ka na da ta’ and this is stong tree is written as ‘na pa sa ka’. How
is ‘beautiful’ written in that code language ?

(1) da (2)ta  (3)sa (4) Data inadequate
these

(5) None of

122. In a certain code ‘GIVE’ is written as *51@©’ and ‘FAIL’
is written as ‘%219’. How is LEAF written in that code ?
(1)502% 2)902% (3)9@2% (4)901% (5) None
of these

123. How many such pairs of letters are there in the word
COMPUTERS each of which has as many letters between them
in the word as in the English alphabet ?
(I)None (2) One (3) Two (4) Three (5)More than three
124. The positions of the first and the sixth digits in the number
5109238674 and interchanged. Similarly the positions of the
second and the seventh digits are interchanged and so on.-Which
of the following will be the third

digit from the right end after the rearrangement ?

19 @2)0 (3)6 (4)3 (5) None of these

125. Four of the following five are alike in a certain way and®p (
form a group. Which is the one that does

not belong to that group ? {

(1) Wheel (2) Tyre (3)Car (4)Door (5) Gezi.‘

126. Four of the following five are alike in a certaJT;way and so
form a group. Which is the one that does A ‘-

not belong to that group ? g
(H115 2)8 (B3)95 @75 (5) lf - "a

127. How many meaningful Engh words can be made with the
letters EMTA using each letter enly once in each word ?
(DNone g2)1I Onep (3) Two .‘g hree (5) More than three
128.Ina cifin code SUBSTANC itten as RATRUFDOB.
How is TENTHOUSE written in tha
code?

(1) SMDSIFTVP (@) UOFUIDR
SMDSIDRTN "(5),N0ne of these

(3) UOFUIFTVP (4)

Directions (129- 131): Following questions are based on
the five three-digit numbers given below :
519 364 28 158 835
129. If the positionssof the first and the third digits within each
number are 1nterchangeﬁ which of the following will be the third
digit of the second lowest number ?
Mm99 @4 3H7 @8 (55

130. If the positions of the first and the third digits within each
number are interchanged, which of the following will be the
middle digit of the second highest number ?

M1 @6 38 #5 (53

131. Which of the following is the difference between the second
digits of the highest and the lowest of these numbers ?
M3 @1 (B3)2 @0 (5 None of these

Directions (132 — 137) : Study the following information
carefully and answer the questions given below :
A, M, P, D, Q,R, W and B are sitting around a circle
facing at the centre. D is fourth to the left of A who
is third to the right of M. P is third to the left of Q who is third to
the left of M. R is third to the right of W who is k
second to the right of B.
132. Who is second to the left of D ?
(HW 2)B 3)Q @ Data‘madeqnate f') None of

these

133. Who is third to the left of P { r
(OM 2D @B)R g‘il) Data 1nad$quate (5) None of these

134. Who is;to the i 1m edlq,ﬁe right of 5 ?
(1) We (Q(D 3) (@) {)ata inadequate  (5) None of these

138 Which &f the followmg pairs represents the first and second
spectively tojthe right of W ?

(HD (2)QB (3) MR (4) Data inadequate
of thes

(5) None

136. In Whi€h of the following pairs is the second person sitting
to the imrflediate right of the first person ?
(3)AB  (9QB

(1)MD
137. Wholis fourth to the right of R ?

(HP _.(2) A (3) B (4) Data inadequate
these

(5) None of these

(5) None of

Directions (138 — 143): In the following questions, the
symbols @, $,*© and # are used with the following meaning as
illustrated below :

P *Q means P is neither greater than nor smaller than Q.
P$Q means P is neither greater than nor equal to Q.
P@Q means P is not smaller than Q.
PO©Q means P is not greater than Q
P#Q means P is neither smaller than nor equal to Q.
Now is each of the following questions assuming the given
statements to be true, find which of the three
conclusions I, IT and IIT given below them is/are definitely true
and give your answer accordingly.
138. Statements: W @ T, TOM, M $ D
Conclusions: . W # D ILW@eM I.D#T
(1) Only I is true (2) Only IT'is true  (3) Only I is true
(4) Only II and III are true (5) None of these

139. Statements: F*R,R© M. M $D

Conclusions: L. D#R  II.D#F III.M@F

(1) Only I and II are true (2) Only I and III are true
II and III are true

(4) Al 1, IT and IIT are true (5) None of these

(3) Only

140. Statements: VOM, M % B, B $ F
Conclusions: . F#M 1. B@V III.F#V
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(1) Only I and IT are true
Only I and III are true
(4) All I, II and III are true (5) None of these

(2) Only II and III are true  (3)

141. Statements: D # N, N @ B, B*F

Conclusions: . F$D ILN#F II. N*F

(1) Only Iistrue (2)OnlyIlistrue (3) Only Il is true (4)
Only either II or III is true

(5) Only I and either II or III a true

142. Statements: R$T, T#K, K@M

Conclusions: ILR$M ILT#M IIILR$K
(1) None is true  (2) Only Iis true (3) Only Il is true (4)
Only III is true

(5) Only II and III are true

143. Statements: H#N, N$T, T@B

Conclusions: L. B$N ILH#T II.B$H

(1) None is true  (2) Only I'is true (3) Only Il is true (4)
Only [ is true  (5) Only II and IIT are true

Directions: ( 144-149):Study the following arrangement
carefully and answer the questions given below ¢

WI3#R @EJKT4B 91 *DUS81H%AVS
67 MP2Q§$6
144. Which of the following is the sixth to the right of the twenty
first from the right end of the above arrangement ?
®»Hs8 @b B3)p “Ge (5) None of these

145.How many such vowels are there in the above arrangement
each of which is immediately preceded by a symbol and
immediately followed by a consonant ?

(DNone

146. How many such symbols are there In the above’
arrangement, each of which is immediately followsg_
but not immediately preceded by a number ?

(I)None (2)One (3)Two (4) Thr?: ‘S)J.More than three

a number

147. How many such consonants are ther‘in th€ above
arrangement, each of which is immediatel prec&idéd by a
number and immediately followed by a symbol?
(1)None (2)One (3) ng , (4) Three
three 5 '

(5) More than

148. Four oﬁle following five are a ke 1 a certain way based
on their positions in the above arrangemerit and so form a group.
Which is the one that does not belong to that group ?

(1)81D (_236 75 (3)P2 @4EJR (5 T4
149. If all the symbols in the abovefarrangement are dropped,
which of the following will be the fourteenth from the left end ?
O 2H @3) (4)8 (5)None of these

Directions (150- k85): In each of the questions below are given

three statements followEi by three conclusions numbered I, IT
and III. You have to take the given statements to be true even if
they seem to be at variance

from commonly known facts. Read all the conclusions and then
decide which of the given conclusions logically follows from the
given statements disregarding commonly known facts.

|
(2)One (3) Two (4) Three (5) Four 1 \

150. Statements: All petals are trees.
All roads are gardens.

Conclusions : 1. Some roads are trees.
trees. III. Some gardens are petals.
(1) Only 1 and II follows (2) Only II and III follow (3) Only I
and III follow (4) All I, IT and III follow

(5) None of these

All trees are gardens.

II. Some gardens are

151. Statements: All keys are locks. No lock is toy. All bags are

toys.

Conclusions: 1. No bagis key. II. Some bags are keys. III.
Some toys are keys.

(1) None follows  (2) Only I follows (3) ;II follows (4)
Only III follows  (5) Only I and II follow iy

-
)

152. Statements: Some days are mglg'hts Some n4§are months.
Some months are years. g r n;’
Conclusions : I. Some years are nights. II. Some onths are days.
III. No year is night
(1) Only I follows _@) dnﬁf 11 follods (3) Only III follows
(4) Only either 1 or IILfollows
5) N(il:c' ow‘ese { -

Stateméhts: All cycleg are tyres.
I'wheels arebuses.

Some buses are tyres.
III. Some busgs are cycles.

(1) OnlyyI and II follow (2) Only I and III follow
and III @]
4) All 1,

Some tyres are wheels.

II. Some wheels are tyres.

(3) Only II

and III ?low (5) None of these

154. Statégments: Some dogs are cats. Some cats arc horses. All
horses arg tigers.

Conclusmns 1. Some tigers are cats. II. Some horses are dogs.
I1. Sonie tigers are dogs.

(1) None follows (2) Only 1 follows (3) Only II follows (4)
Only III follows (5) Only II and III follow

155. Statements: All ropes are sticks. Some sticks are hammers.
Some hammers are lakes.

Conclusions .I. Some lakes are ropes. II. Some hammers are

ropes. III. Some lakes are sticks.
(1) None follows (2) Only I follows (3) Only II follows  (4)
Only III follows  (5) Only I and III follow
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SET -05
121.Q walked 20 metres towards West, took a left turn and
walked 20 metres. He then took a right turn and walked 20
metres and again took a right turn and walked 20 metres. How far
is Q now from the starting point ?
(1) 40 metres  (2) 50 metres  (3) 80 metres
inadequate (5) None of these

(4) Data

122. In a column of thirty boys. M is eighth from the end and J is
twelfth from the front. If there are six boys between J and Q, how
many boys are there between M and Q ?

(D) 10 2)12 3)8 4) Data Inadequate.

(5) None of these
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123.In a certain code. '3, 4,5' means come and go and 59 7
means'go back now'. What does '9' mean

in that code ?

(1) back (2) now
(5) None of these

(3) back or now  4) Data Inadequate

124.Four of the following live arc alike in a certain way and so
form a group. Which is the one that does

not belong to that group?
(H 115 () 161  (3)253 (4)391 5) 345

125.How many meaningful English words can be formed with
the letters EVRA using each letter only once in each word ?

(1) None (2)One (3) Two  (4) Three (5) More than three

126.Four of the following five are alike in a certain way and so
form a group. Winch is the one that does

not belong to that group ?
(HOMQ (2)HFJ (3)TPR 4) TRV (5) VIX
127.In a certain code GATHERS is written as UBHGRQD. How
is SEALING written in that code?

(D BFTKHMF (2) BFTKFMH 3) BFTMHMF (4)

TFBKHMF  (5) None of these

128.”SIDE' is written as DS1E' and ROAM' is written as AROM:
in the same way as DUCK' is written as---------
(1)KDCU (2)KCUD (3) CDKU (4)CDUK (5) None of these

129.How many such pairs of digits are there in the number
59126874 each of which has as many digits between them in the

number as when the digits are rearranged in descending ordefily (

among them within the number?
(I) None (2)One (3) Two (4) Three (5) More‘a*ree
130.Each consonant in the word EXACTION is re 1!941 by the
previous letter in the English alphabet and each vowel is replaced
by the next letter in me English alphabet andithe new letters are
arranged alphabetically, which of -

|
the following will be the fourth from the gight efd'alter the
rearrangement ? Y l\‘-"
(HN (2)F 3)J (4iS (5) None of these

131.How many such pairs of lé{te‘ are there in the word
SERVITUDE.each of which has as letters between them in
the word as F the English alphabet?)\h
(I)None . (2)One (3) Two (4)Three (5) More than
three
'y Ed

Directions (132-,137): In each ofithe questions below are given
four statements followed by three cpnclusions numbered I, IT and
III. You have to take the given Statéments to be true even if they
seem to be at varia@nce
from commonly kn@wn facts. Read all the conclusions and then
decide which of thesgiven conclusions logically follows from the
given statements dlsregrdmg commonly known facts.
132. Statements:Some nails are plates. Some plates are disks
All disks are mirrors. ~ All mirrors are tyres.
Conclusions : I.Some tyres are plates. II. Some tyres are nails.
III. Some mirrors are plates.
1) Only I and IT follow  (2) Only I and III follow (3) Only I
and III follow

(4) AlIT II and III follow 5) None of these

133. Statements: Some windows are lakes. Some lakes are
forests. Some forests arc hills. All hills are curtains.
Conclusions: I. Some hills are windows. II. Some curtains are
lakes, III. Some forests are windows.

(1) None follows  (2) Only I follows (3) Only II follows (4)
Only III follows 5) Only I and III follow

134. Statements:All tapes are branches Some branches are roads.
All roads are trails. Sonic fruits are trees.
Conclusions: I. Some trees are tapes. II. Some'f;
III. Some fruits are branches.

1) None follows (2) Only I follows (3) £ fllOWS )

ltS are tapes.

Only III follows (5) Only II and Iq follow

135. Statements: Some beads are 1g‘aurs All chairr' are trucks.
Some trucks arc bricks. All brlc are cars.

Conclusions : I. Some cars are chairs. JI ﬁome cars arc trucks.
III. Some trucks are bs:ad‘s 'y

(1) Only I and I folloy 2.) iny I ant{III follow  (3) Only II
and IIIlrfollk‘d

11 11 follow 4) None of these

. All flowers are houses. All houses are tigers.
All tigars art goals. Some goats are bullocks.

Conclusions I. Some goats are flowers. II. Some tigers are
flowers MII1. Some bullocks are tigers.

1) Only ¥ amd II follow  2) Only II and III follow
and III follow (4) Adl I, IT and III follow

(5) None o "
137. Statements : All shirts are hats. No hat is suit. Some rings

are su1ts All rings are bangles.

Conclusions: I. Some rings are hats. II. Some bangles are suits.
III. No ring is bat.

(1) Only I follows (2) Only II follows (3) Only III follows
(4) Only either I or III follows 5) Only either I or III and II
follow

3) Only I

Directions (138 - 141) Study the following arrangement
carefully and answer the questions given below :
R3AM %D1BUJ2@ ©FIKE&SWP48V
Q96Y *5
138. If all the symbols are dropped from the above arrangement,
which of the following will be the thirteenth from the left end ?
(HK 2)E @3)I @F (5 None Of these

139. Four of the following five are alike in a certain way based
on their positions in the above arrangement and so form a group.
Which is the one that does not belong to that group ?

1) M DA 2)6%9 (3)4VP 4FKGe@ 6)Je@u

140. Which of the following is the twelfth to the right of the sixth
from the left end of the above arrangement?
(HE 238 @3 @ (4)2  (5) None of these

141. How many such numbers are there In the above
arrangement, each of which is immediately preceded by a
consonant and immediately followed by a symbol ?

(1)None 2) One 3) Two (4) Three (5)
More than three
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Directions (142- 145): In each question below is given a group of letters followed by four combinations of digits/symbols numbered
(1). (2). (3) and (4).You have to paid out which of the combinations correctly represents the group of letters based on the following coding
system and the conditions that follow and mark the number of that combination as your answer. if none of the four combinations correctly
represents the group of letters, mark (5) i.e. None of these as the answer.

Letters A |R |P ([ M|D |E |T|Q|Z|F |H |K |[U|W|J
Number/ | © |7 [8 [3 |9 |2 |1 |4 |#|$ |5 |% |@|6| 6
symbol
Conditions :

(1) If the first letter is a vowel and the letter is a consonant, both are to be coded as the code for the vowel.
(i1) If both the first and the last letter are consonants, both are to be coded as the code tor the last letter.

iii) If the first letter is a consonant and the last letter is a vowel, both are to be coded as *. | ‘\
142. IDUPRJ . "
(1) 19@8768 2)69@876 (3)19@871 (4) 69@871 (5) None of these o |
143. UKWIMA . J
(1) ©%6 6 3@ 2)@%683@ 3)@%6 603 4)@%6 6 3© S)none of these r ! F r
-

144. RIQHFP J 2
(1) 8145$8 2)7145$8  (3) *145%*  (4) 8145%7 (5) None of these - A .ir

1 AN r
145. MDAPQE \1 (\ ( 4
1)290842  (2) 390842 (3)39©843  (4)29©843  (5) None of thesé P . ‘

Directions (146 - 150): In the following questions, the symbols
@, ©, *, $ and % are used with the following

meaning as illustrated below:

P * Q means P is neither smaller than nor equal to Q’.

and K are seven students of a school. They study
, IV and V with atleast two

dard. Each of them has different choice of colour
d, green, yellow, black, white and

PO© Q means "P is neither greater than nor equal to Q brown, not necessarily in the same order. M studies in Standard
P @ Q' means P is not greater than Q\ IV with OF!BW likes red colour. A studies
P % Q means P is not smaller than Q\ in Standafd V and does not like either blue or green, H does not
P$ Q' means P is neither smaller than nor greater than study in Standard V and likes yellow colour. P and
Now in each of the following questions assunn % J study in the same Standard but not With A. None of these who
statements to be true, find which of the two conclus1 I and IT study in Standard III likes while. The one who
given below them is/ are definitely true ? likes black studies in Standard IV. J likes brown colour. P does
Give answer (1) if only Conclusion I is true. not like blue colour.
Give answer (2) if only Conclusion II is truél
Give answer (3) if either Conclusion I orI isﬁrBe. 151. Which colour does P like ?
Give answer (4) if neither- Conclusion I ‘{r 11 is true. (1) Green (2) Blue (3) Blue or Green 4) Data inadequate
Give answer (5) if both Conclusiens I andTI are frue. (5) None of these
146. Statements: H @ K, K% D,ID $B 4
Conclusions: 1. H@ B .JL @K . 152. Which of the following combinations is definitely correct ?
a0 J 3 1) II-H-Black  (2) IV-K- Blue (3) V-A-Blue
147. Statemepts™ % F, FOR, R} (4) IV-D- Green (5) All are incorrect
Conclusior(?(I. KOF IL.M*R|
\ 153. Which colour does A like ?
148.Statements: A *F, H@QF, M@H (1) Brown (2)Red 3) White (4) Data inadequate
Conclusions : I' M@F II.A*H (5) None of these
149.Statements : © M, M*W,IT@W. 154. Which colour does K like ?
Conclusions : § T© M II. TOR (1) Green (2) Blue (3) Blue or Green (4) Data

inadequate (5) None of these
150. Statements : K, K@D, D$F

Conclusions: I. Ji-* II. F$K 155. In which Standard do three of them study ?
(1)OnlyIll.' (2)OnlyV  (3)OnlyIllor V (4) Data
Directions (151 - 155) : .Study the following information inadequate  (5) None of these

carefully and answer the questions given below :

10
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